A  Transition Rules

Assignments

(@) & (x) =[r]¢

“ (€,Cs,x = 7) > (nothing, {x = 7}, {})

(az) (€,Cs,next (x) = 7) —» (nothing, {next (x) = 7}, {})

Time Consuming Statements

. c immediate

(p1) (€,Cs,await clock(()) —»< await clock(() 7{},{C’}>
c=C

(p2) immediate c .

(6.0, mmediare ey ) tnothing, 0.0)

c#C

(p3) immediate c immediate

<S,C’5, await clock(() >_»< await clock((C) ’{}’{C}>

Clock Definitions
CA{} A (£,0,8) 5 (S, AC)
(€,Cs,clock(CI{ S }) = (clock(CI{ S}, AC)
C={} A (£,C,8) 5 (S, AC)
(£,Cs,elock (CY{ S }) — (S', A,C)

(c1)

(c2)

Conditional Statements

[o]c =true A (E,Cs,81) — (S}, A1,Cr)

= (E,Cs,if(0) S else &) — (S|, A1,C1)

. [o]. = false A (E,Cs,82) — (Sh, A, Ca)

) (£,Cs,if(0) S else Sy) —» (S, Az, Co)
Sequence
(52) CL#{} A (£,Cs,81) > (S], A1,Cy)

1 (£,C5,81; So) — (S]5 Sa, A1, Cy)
(52) Cr={} A (£,Cs,8) > (8], A41,C1) N (E,Cs,8,) —» (S}, Az, Ca)

(£.Cs.815 Sy) < (SL. Ay U Ay, Co)



